culy

Additions
Soustractions
Multiplications

Divisions

cO

Prénom :




“Ww+2=_____  _____ +7=24 33 +_____ = 51
4 + _____ =1 +17=061 = +18 = 86
31+e3=_____ 2¢+ ____ =31 23+ _____ =58
60+5=_____ 24+ _____ =68 62+30=_____
_____ +2=8 B+ _____=10 e *12=43
2+ _____ =4 33+ _____ =65 51+ _____ =67
N+ _____ =27 A+ _____ =65 60+ _____ = 9%
55+31=_____ 6+ ______ =74 48+ _____ =50
______ +60=71 ————*3=34 BL+_____=75
26+ _____ =36 b+3=_____ _____ +37=41
31+49=_____ B+ _____ =15 60+ _____ =86
N+5=_____ 9+ _____ =82 +46=55
#+9=_____ +13=7F7 26+62=_____
31+ =58 B+ _____ =30 +64 =88
6+50=_____ B+PO=_____ 8+ _____ =15
_____ +19=70 47+ _____=49 65+2=_____
O+ _____ =920 29+ _____ =% _____ +79=83
2+ _____ =45 B+ _____ =16 9+ _____ =35
2A+15=_____ 5+2=_____ +14=82
53+1%=_____ +256=3¢ _____ +51=72
8+ _____ = 42 58+4=______ 59+9=_____
52+2=_____ 3+ =5 V+75=_____
_____ +17=80 64+_____=72 48+ _____=64
_____ +20=32 V+2=______ 44+ _____=50
_____ +21=55 ———+18=26 B+ _____=78



Série 4
30+25=_____
_____ +25=238
4+b=_____
3+ =14
_____ +50 =158
56+39=_____
2+F=_____
3+ =43
6+46=_____
Bl+48=_____
______ +12=21
9B +9=_____
2+ _____ =76
46+ _____ =48
_____ +40 =49
84- _____ =50
n-4=_____
B8B-2=_____
42- _____ =36
85-26=_____
49-21=_____
_____ -21=33
57-33=_____
_____ -20=15
42-15=_____

Série 5

_____ +9="54
61+ _____ =85
48+3=_____
6+ _____ =67
50+ _____ =83
_____ +45=90
_____ +7#=21
2+ _____ =2
42+ _____ =80
20+%=_____
_____ +23=26
B+22=_____
_____ +2=8
5+ _____ =9
44+6=_____
49-38=_____
_____ -36=4
53- _____ =32
Y1-26=______
______ -23=82
_____ -21=50
_____ -66 =30
6F- =34
_____ -17=42
_____ -1=18

Série 6



48- _____ = -65=24 64-12=_____
86-42=_____  _____ -64=30 82-67=_____
40 - ____ =35 =17 -38=6
23-B=_____ 43-2=_____ -20=61
_____ -B=2 53-F=_____ B-HA=_____
_____ -21=12 32-22=_____ ————=34=25
59-24=_____ 6l1- ____ =31 89-3=_____
______ -59=2 ———-5=31 ————--30=4%6
_____ -16=57% 60-_____=1 80-F=_____
45- _____ =9 50-20=_____ N-e=_____
8l- _____ =4 24- _____ =6 2- _____ =7
39-_____ =35 -86=2  _____ -15=47
84-48=_____  _____ -69=29 Fme— =4
%- _____ =8 6l1- ____ =6 38-9=_____
_____ -4=56 ————=-2=35 35-17=_____
80-65=_____ 44 - _____ =8 %-_____ =74
52- ____ =30 53-B=_____  _____ -56=20
_____ -26=13 44- _____=31 28-24=_____
A-40=_____ 64 - _____ =28 80-19=_____
_____ -35=1 —————-18=5 34-T#=_____
_____ -36=12 6F-_ =41 —e—--35=5
A-T=_____ -16=19 F#-35=_____
_____ -16=26 30-5=_____ 80-_____=25
_____ -15=30 ———-5=69 85-_____=27
_____ -15=82 A-_____=1% 86-_____=83



Série 10

_____ -62=9
89- ____ =1
_____ -7=1
32-28=_____
26-3=______
3x8=_____
5x3=_____
6X e =36
5x#=_____
Ox_____ =60
_____ x8=72
x8=_____
_____ x2=20
_____ x3=12
_____ X9=45
_____ X#=1%
OX e =81
_____ x5=30
_____ X2=8
Ox9=_____
FX oo =63
_____ X4=20
_____ X4=24
8X e =64
Ox____ =30

Série 11

Série 12



Ox4=_____ FX e =% X 6 =60
_____ x5=50 FX6=_____ ——_x#=35
5x_____ =40 8X ——_ =80 FXE4=______
6x8=_____ 4x10=_____ IOX =54
_____ x8="56 ————_X4=1 6X_—___=36
_____ X2=4 8X4=_____ 6X3=______
4x9=_____ Xx9=90 5x_——__ =20
IXF=_____ x6=60  _____ x8=16
6X#=_____ 3x8=_____ 3X e =2
8X4=_____ X#=49 5x3=_____
______ x2=10 IX =45 3Xcee=9
_____ x9="54 ———X10=20 2X_____=20
_____ x9=27 6X_____=48 ————X?#=70
6X_—___ =18 6X6=_____ 6X_—___ =48
FX4=_____ 6X e _ =54  _____ X7#=1%
2x8=_____ x3=9 IOX e =63
3X e =21 _____ X2=4 5x_——__ =10
Ox_____ =100 X#=70 4x9=_____
2X __ =6 3X e =2 x9=18
_____ Xx6=12 ————_X2=6 ————X4=%
______ 9=17 36:4=_____ ————_X8=80
36:4=_____ 56: _____ =7 24 ______ =4
______ 2=4 24:3=______ B8B:9=_____
48:6=_____ _____: 4=5 72:9=_____
56: _____ =7 ——_:=6 28:F=_____
9:3=_____ 2:10=_____ Ve ____ =5



Série 16

B ____ =6
80: ____ =10
50: ____ =5
______ 9=2
36: _____ =6
30— =10
0:9=_____
81:9=_____
______ 3=7
25: _____ =5
24 _____ =3
______ 5=3
______ 3=9
20:4=_____
4:2=_____
______ 5=2
0oO:10=_____
0:0=_____
24:6=_____
32:4=_____
6:2=_____
30— =6
______ 8=2
45 _____ =5
______ #=5

Série 17
______ 5=3
N:_____ =9
45:9=_____
6 ____ =2
FOit=_____
_______ 2=8
50:5=_____
24 _____ =6
_______ 6=7
63: _____ =9
80:10=_____
______ 2=7
———:0=4
30: =1
______ 2=9
35:F=_____
______ 8=4
30: =5
______ 4=8
B2:1=_____
%4:12=_____
48:4=_____
2 =6
2:1=_____
#5:3=_____
[ ]

Série 18
______ 4=3
______ #=9
______ 8=1
40:8=_____
24 _____ =8
% ____ =7
45:5=_____
40: _____ =10
9 __ =3
64:8=_____
______ 3=9
36: ____ =6
32:4=_____
______ 3=1
56:F=_____
F2:6=_____
36: ____ =9
00: _____ =10
______ 5=3
______ 2=4
81: _____ =9
60:0=_____
2A:3=_____
42:F=_____
49 _____ =7
[ 1



Série 19

Série 20

Série 21

N _____ =10
B6: ____ =2
______ 9=6
48 ____ =8
50: ____ =10
______ 4=5
B ____ =6
______ 4=4
_____ :10=2
_____ -30=17
4+l6=_____
4+9=_____
80 - _____ =49
51- ____ =27
______ -#=4
______ +50=73
A+TF=_____
35+F=_____
8+7F=_____
38-9=_____
9F- =23
34+ _____ =40
53- _____ =37
_____ +1=18
69+9=_____
[ 1



6+5=_____ B:4=_____ 8+ _____ =37
_____ +72=90 2A:_____=3 Ff- =68
84- ____ =19 4t =2 - +9=81
FO- =24 ——:8=9 +7=91
_____ +4=67% 40:5=______ —eeee-5=1
4+52=_____ 9:3=______ 2+B=______
63- _____ =39 8:4=_____ -20=3
60 - _____ =55 2#4:3=______ -60 =40
A+0=_____ _____: =+ +10=30
_____ +85=91 85+ _____=92 5+56=_____
_____ +37=41 e -7=13 44-_____=9
_____ +24=62 e -B=29 46+34=_____
F#+25=_____ 26+ _____ =22 - +29=34
30- - =6 @ -54=31  _____ +46=48
8- =55 68+29=______  _____ -B=A
_____ +68 =82 00-24=______ B+_____=29
n+1=-_____ -4=4 _____ -8=1
_____ -6=48 6+7F=_____ ————*3=24
_____ -45=55 et #=20 N+ _____=41
n+30=____- -26=2 #-5=_____
66- _____ =55 N - =53 53- _____ =32
_____ +84=92 e t1#=23 43-20=_____
6+5=_____  _____ +12=1% 39-_____ =32
_____ +72=90 67-43=_____ e +3#=52
84- ____ =02 -5=95 29-23=_____



2% __ =3 -41=39 2. ____ =3
V:5=_____ 9¢-5=_____ -7=%
______ 9=9 28:._____=7 54. ____=6
63 _____ =9 66-_____ =45 i =10
B-____ =4 -39=56 65-39=_____
_____ -6=2 —————:3=9 30:____=6
51-46=_____  ______ -8#=3 24:8=_____
40 _____ =5 ______ -15=31 :0=_____
93-_____ =14 ——F=8 8=4
80:8=_____ 40:5=_____ 8-4=_____
- =50 —————:6=8 n- _____ =7
_____ -60=12 ————-23=28 6:____=2
Fm e =2 0 =4 - -1=20
Bb:i4=_____ 20:5=_____  ______: 9=5
62- _____ =7 % ____ =7 V-_____ =8
V-_____ =4 12:6=_____ 84-63=_____
5 _____ =5 - =42 84-3=_____
12:4=_____ 8%- =71 42-5=_____
0-1F=_____ 40:10=_____ 2#:9=_____
38-6=_____ 36 _____ =9 35:F=_____
85-80=_____ 24-8=_____ B - =9
490:0=_____ -2=% -40=41
35:5=_____ 3=2 6F- ——__ =51
_____ -15=85 ————-12=14 ————:8=1
9F- = =16 #0-50=_____ _____: 8=6



_____ -5=12 35:F=_____ —_———-28=0
______ 7=6 V-_____=3 ——ib=7
_____ -35=64 15:3=_____ ———:3=0
_____ -54 =37 ——_-35=55 9:3=______
8:2=_____ -7= _____ -3=5
% -Fl=_____ 2F- ____ =25 9%5-26=_____
______ 6=4 40-24=_____ —:b=6
62- _____ =51 30: =5  _____: 2=8
31-28=_____ 0:3=_____ -1=80
_______ =1 2-%=_____ 46-_____=44
n-8=_____ RV-F2=_____ 28 _____ =4
66— =2 10=82 48- ____ =35
53-40=_____ 5. ____ =9 F6- ___ =28
66- _____ =49 e9-60=_____  ______ -4=60
42:6=_____ ______ X4=28 8X _—_ =16
36: _____ =6 X3=24 OX e =54
25:5=_____ 2X6=______ 60:0=_____
_____ X#=70 IX_—___=81 ———_x3=15
2:4=_____ #x5=______ 3x9=______
_____ x2=1 -———_:5=8 ——_X4=12
6x3=_____ exv0=_____ _____: 5=5
FX oo =2 4x8=______ 0 ____ =5
_____ X9=63 X e =90 ————:8=7
%:2=_____ 8x10=_____ Ox____=30
8x10=______ EX =30 = x10 =50



_____ x8=16 2x5=_____ VOx_—__=100
OX e =81 12: ____ =3 8X e =24
6X e =12 o =54  _____: D=4
4x2=_____ 48 _____ =6 8=4
#2:9=_____ Ox_____ =30 2: ____ =6
20:10=_____ —_———:6=3 X2=1%
60 _____ =6 20:10=_____ 4x5=_____
______ x#=35 YB: ____=7 5x6=_____
54:6=______ 36: _____ =4 2x3=_____
5x10=_____ 2x8=_____ #2:8=_____
Ex_____ =45 #2:8=_____ _____: #=6
______ X4=24 Fx3=_____ 8:4=_____
2X e =6 56: ____ =8 R P =45
30:5=______ ———:b=7 8B:9=_____
2:4=______ 36:6=_____ 24:6=_____
______ 3=8 ——_x5=15 FX =49
I9x3=_____ 49: _____ =7 N0:9=_____
______ =1 ————x1=10 80:8=_____
FX4=_____ 6XF=_____ 9x5=_____
______ X4=36 B:____=9 63:F=_____
32:4=_____ 20:4=_____ FO: __ =7
40:8=_____ Ex_——__ =45 I9x9=_____
Ox_____ =90 —_——i2=4 9x12=_____
_____ X4=16 50:0=_____ 6x12=_____
______ 7=8 40:4=______ 33:3=______



Série 36
______ 8=6
______ 4=4
40:8=_____
36: _____ =6
Fr =63
_____ x5=45
_____ -55=9
48-39=_____
_____ X6=48
- =17
_____ +50 =68
_____ x10 =60
_____ X #=77#
FX6=______
______ X 6 =54
8X o =24
_____ -20=57
#-9=______
n+6#=_____
______ +34=77
41- _____ =16
23+ _____ =47
2+ _____ =54
30-——__ =1
N+ ______ =43



_____ X4=36 50-1%=_____ ————_X8=64
_____ +25=72 B-_____=35 ——-5=13
FX oo =2 Fx8=_____ 8X _——__ =48
3N+ _____ =92 Ix8=_____ 9+1%=_____
84-41=_____ OX o _ =90 49- _____ =29
E5x?=_____ 5+9=_____  _____ +45=79
6x9=______ B- =3 +30 = 47
_____ -55=19 ——t4=23 ——X2=1
3X e =2 -68=24 33+ _____ =66
_____ +36 =60 ©-_____=8 ————*t46=067
_____ x5=45 Ox_____=10 48+ _____=72
_____ +41=65 NxnN=_____ 26-8=_____
44-32=_____ X8=24 8- =60
68-48=_____ 50-24=_____ 97-8B=_____
63+33=_____ _____ +2¢=42 _____ x#=35
F+8=_____ “B+2=_____ 2%+ _____ =47
______ -20=63 0-ce_=2 ———t40=064
52- ____ =6 20+ _____ =61 Fx8=_____
5- _____ =13 29- _____ =1 42+ ______ =57
______ 6=6 —_—,—:=7 F+_____=82
8x12=_____ ——b=2 _____: 5=3
______ 6=9 B:2=_____ UX o =F7
_____ x9=81 80:___=1 FX e =63
_____ +8=33 —_————-89=4 ——-15=%
_____ -20=21 ————-9=48 25-_____=8



_____ -23=5 20x5=_____ DO X ——__=540
58+ _____ =75 84- ____ =65 BL+8l=_____
%-64=_____ X9=63 N:9=_____
#x5=_____ 51- ____ =2 +86 =120
_______ 9=1 9+ _____=29 B+1=_____
______ -58=24 B-_____=9 4x25=_____
2#+25=_____ 35 ____ =5 7+24=_____
49- _____ =34 3X e =24 G X e =32
GX e =32 F#-51=_____ 8X e =160
92-20=_____ 5x50=_____ #x50=_____
85-9=_____ IOX e =81 x 5=250
FX e =63 = x3=2% 55-38=_____
_____ X 6 =54 ———:8=2 —————X40=200
#+56=_____ ______ -8=17 G+ _____ =76
44- ___ =8 32:8=_____ 30=30
3x8=_____ 39+50=_____  _____ +36=49
_____ X6=42 0-___=17 29-B=_____
_____ -47=2 —————x1=10 80X =320
59- _____ =48 3B-l=_____ 66- _____ =17
______ 2=6 e F=F ————-X%X20=80
______ 3=6 72:9=_____ F20: =920
_____ -24=75 —————t44=73 8l-_____=24
2X ——_ =44 _____ +%=31  _____: 40 =60
_____ -28=1¢ 23+31=_____ ————*3=95
2: ____ =4 -29=48 B+ _____ =78



______ 5=80 40x0=_____ OX =720
_____ -182=71 ————-+88=156 B-54=_____
168+38=_____ 240 _____ =6 360 =40
_____ +49 =222 ——————X4=480 400:_____=50
303-102=_____ _____: 70 =50 324+63=_____
FOX ——— =490 874+95=_____ B#-9=_____
_____ +53=131 —e———+66=150 9B+8F=_____
_____ X 60 = 540 —————X40=320 ———_-88=7%5
_____ x 50 = 250 ————-:80=8 178+32=_____
93+ _____ =172 +94 =167 o+ _____ =321
_____ +66 =155 o+ _____ =249 34+125=_____
125+ _____ =195 Fh =24+ 86+9%4=_____
B2+ _____ =202 9F+ _____ =186 45+ _____ =230
¥43+9F=_____ 02+ _____ =280 = - +175=281
84+ - =165 N+ _____ =187 B+#2=_____
_____ +91=174 62+124=_____ e *t206=325
02+ _____ =243  _____ +107 =348 ¥W3+NF=_____
_____ +101=199 e+ 67=223 N+_____=156
_____ +168 = 632 N2+ _____=15 80+198=_____
_____ +123 =203 122+202=_____ 85+ _____=259
123+ _____ =29 +134 =320 08+ _____ =164
203+ _____ =305 = _____ +134 =382 e+ _____ = 206
84+1¥4=_____ _____ +1832=242 = _____ +164 = 240
_____ + M =222 AN+ _____=209 W+ _____=253
67+B=_____ Be+¥3=_____  _____ +185 =220



______ 5=5 8X#0=_____ DO X =540
_____ -B=1 ——*9=061 43-24=_____
B+8=_____ BO: =6 60: _____ =40
_____ +9=22 e X4=120 300:_____=50
B3-2=_____ #=3 24+ 73=_____
FX e =56 17+25=_____ 84-29=_____
_____ +3=31 ————+1=50 B+2¢=_____
_____ x 20 =180 —————X4=360 —————--38=55
_____ x 50 = 50 ————-:8=8 ©+22=_____
Lo+ _____ =43 +340 =418 129+ _____ =972
_____ +20=326 ol _____= 44+105=_____
434+ _____ =995 433+ _____ =490 56 +1%4=_____
239+ _____ = 255 ¥8+ _____ =162 05+ _____ =150
553+342=_____ m+_____ =366 = +75=81
376+ _____ =689 362+ _____ =475 5733+22=_____
_____ +391= 646 361+329=_____ e+ 406 = 427
2006+ _____ =402 = _____ +207=37%5 243+106=_____
_____ +100 = 744 e+ 67=842 60+_____=73
_____ +168 = 632 52+ _____=65 F0+358=_____
_____ +269=307% 212+702=_____ 82+ _____=589
B+ _____ =59¢  _____ +164 =820 04+ _____ =751
563+ _____ =642 @ _____ +164 = 682 4+ _____ =703
283+1fF=_____ +442=0642 = _____ + 265 =337
_____ + 23#=550 2A+_____=50 3B+ _____=453
325+562=_____ 2Z6+154=_____ _____ +885=929



5+ _____ =62 417+69=_____ 539+ _____ =609
_____ +94 =782 e t1B=23 e+ 79=870
_____ +236 =454 B32+333=_____ ————t424=YF6
973+9=_____ 524 +208=_____ 656+76=_____
_____ + 525 =556 204+ _____=514 —————*+295=302
_____ +97 =544 ————*109= 253 —————*246=535
67/9+24¢=_____ 522+ _____ =789 M2+ _____ =

494 +505=_____ B+ _____ =13 206+ _____ =697
209+M2=_____ 546+ _____ = 763 B6+597=_____
B1+43=_____ G+ _____ =35 36+ _____ =80
%+ _____ =606 209+ _____ = 756 122+702=_____
_____ +133=481 263+2%6=_____ 395+ _____=462
n+12=_____ B+ _____ =20 - +41=55
_____ +27=44 328+622=_____ Be+60=_____
245+306=_____  _____ +341=349 _____ + #6#= 780
2+ _____ =630 = +20=4 - + 176 = 403
Bl+ _____ = 258 372+360=_____ = _____ +147=629
376+ _____ =93 _____ +69 =949 30#+304=_____
261+ _____ =952  _____ +66=455  _____ +6 =543
541+ _____ =635 = _____ +5#44=58 _____ +49=19
52+ _____ =65 32+ _____ = 744 V4+211=_____
_____ +6 =681 —————+108=402 4+ _____=598
9%+ _____ =606 42+287=_____ 539+143=_____
_____ +829 =858 ————-+550=615 —————+829=845
B+ _____ =34 54+ _____ =69 BI+50=_____



